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1) £+Q.=£xz.=ll.

3 7 3 5 15'

2) 11 -i- 1§. = 14 + 15 = ll. <

21 21 1 15

3) 1
9

0+;- = 1~ x t = ~~ = % = 4t

4) 45+1Q= 45+10 = 45 =1L=4.!
50 50 1 10 2 2

5) 23 + 1I = 23 x.L = 161 = 176 .
5 7 5 17 85 85-

6) ~ + 1. = ~ x ~ = 27 = 1.L
5 3 5 4 20 20-

6 4 2 17) 4--1- = 3- = 3-
8 8 8 4'

6 7 27 7 208) 1321-1121 =1221-1121 =12_1'

1 2 3 -9) 3-+2-=5-=.6
3 3 3 '

10) 1§. +1£ = 27
20 20 20
27 6 270 120 390 39 19
20 + 10 = 200 + 200 = 200 = 20 = 120'

7 15 22
11) 21+21=21

22 2 110 42 152 47
21 +5" = 105 + 105 = 105 = 1105'

12) ~ + .1= 1.
6 6 6
Z. +.1 = 49 + 24 = 73 = 1]1
6 7 42 42 42 42-

13) 64 -i- 16 = 4 lbs.
14) 6x16=96oz.

15) 13+4= 3i gal.

16) 1/2x20x5=50sq -.ft.

17) 10 ~ + 7 t = 17 ~ = 18 ft; 18 + 3 = 6 yds,

18) 93 + 1£ = 93 x...§..= 465 = 3 105 = 31. ft
10 5 10 12 120 120 8'

19) 7 x 7 x 7 = 343 cu, ft.•
20) 44

23F

1) §.+.£=§.x~=1§.=Q.
9 3 9 2 18 6

2) 1§. + ill. = 15 + 18 = 1§. = §.
27 27 1 18 6

111331\3) - + - = - x - = - = 1-2 3 2 1 2 2

4) ~+.£=3+2=~=1.1
6 6 1 2 2.

5) 11 + §. = 11 x§.= 88 = 4JL = 4.£
4 8 4 5 20 20 5 f

6) g+ Z. = g x§.= 72 = 2..£..
5 6 5 7 35 35'

7) 11§.-6'±=5'±
7 7 7'

2 8 18 8 10 5
8) 316 -216 =216 -216 = 16 = 8'

5 20 25 1
9) 5 50 + 2 50 = 7 50 = 7:2/

3 6 9
10) '4 = '8 = 1Z

1 2 3
11) 8' = 16 = 24 -

7 14 21
12) 10 = 20 = 30 (

13) 21 + 16 = ~ci= 1156lbs,

14) 14+2=7qts.

15) 25 x 3 = 75 ft.

16) 1§.+ §. = 1§. x 1 = 1.§..= ~ Ib
4 1 4 5 20 4 '

17) 14 x 11 x 9 = 1,386 CU, ft.

18) 1/10

19) 3/4 of 20 = 15 gal. used

20 - 15 = 5 !:]aLleft

5 x 4 ='20 qts. left

20) 50

/
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1) done

2) done

3) 1Q
9

4) 1
7

5) done

6) done

1 17) - , 8A = 40 . -8 8
A=5

8) 8(5) =40

40=40

1 ' 19) - . 3D = 27 ' -
3 3

D=9

10) 3(9) = 27

27=27

1 111) -,11Y=121,-
11 11

Y = 11

12) 11(11) = 121

121 = 121

1 113) -·3R =12·-3 3
R = 4

14) 1·4D=48·14 4
D = $12

248

1) ~
2

1
2) 10

83) -= 8
1

1
.4) :2

1 15) - . 8Z = 72 ' -8 8
Z=9

6) 8(9) = 72

72=72

1 17) - ,10C = 100 .-
10 10

C = 10

8) 10(10) = 100

100 = 100

1 19) - , 5F = 25 .-5 5
F=5

10) 5(5)=25'

25=25

1 111) - , 2A = 6 ' -2 2
A.= 3

12.) 2(3) = 6

6=6

- 1 113) -·2A=12·-2 2
A =6

1 114) -·58=15·-
5 5

8=3

(f)
o
c-6'
::J
CJl
I\)
Wm
I\).J:>.
OJ



5) 1 + .1 = 1 x .1. = .± = 2
24212

I' 6) .1. + .£ = 4 + 2 = 2
8 8 1

7) £ +11 = .£x..2.. = 1£
5 6 5 11 55

8) 5(4)=20 1122) 11 9 99 9 1
20 = 20 . 8). "2 + "'9 = "2 x 22 = 44 = '4 = 2 '4

, ,
9) 1. 2H = 24 . .1 9) 8.1Q - 3 28 = 7 45 - 3 28 = 41Z.

2 2 35 35 35 35 35
H=12. 5 3 2 1

10) 16--10-=6-=6-
10) 2(12) = 24 . 8 8 8 4

24 = 24 ~ _ ~~-q~ ~l<t':;'4_1 0~~ = 10 _1.: = 101z:z- ' 20'-- 20 20,- 20 5
1 1

11) '3 .3C = 63 . '3 12) done

C = 21 • 13) done
"

14) 60 7 12 = § ft.

15) "8 x 12 = 96 in.
/

16) 4X = 16,
1.4X = 16·.1:
4 4

X=4
17.)- 5 x 16 = 80 oz.
18) 8

24C

91) -
7

1
2) '8'

23) -.
3

14) -.
32

1 15) -·4B= 8·-4 4
B= 2.

6) 4(2) = 8

8 =8-

1 17) - . 5E = 20 .-
5 5

E= 4-

/

12) 3(21) = 63

63 = 63•.•

13) 5A =50

1. 5A =50·.1
5 5

A = 10
Student may have used
a different letter.
14) 9X=81

1. 9X= 81.19 9
X = 9 ft

\
240

1 11) - . 7F = 49 .-
7 7

F=7

2) 7(7) = 49

49=49

1 13) - ·12R = 36 .-
12 12

R = 3

4) 12(3) = 36

36=36

24E

1 11) -·6G=42·-
6 6

G=7

24F

1 11) -·8H=72·-
8 8

H=9

2) 8(9) = 72
72=72

1 13) - . 1 IT = 55 .-
11 11

T=5

4) 11(5) = 55
55=55

1 1 1 3 35) - + - = - x - = -
4 3 4 1 4

6) ~ + ..i. = 3 + 4 = ~ ;
12 12 1 4

7) Z. +ll = Z. x2. = 2.1
2 3 2 13 26'

8) 23 + 2. = 23 x ~ = 69 = 21£l.
5 3 5 5 25 25'

3 1 2 19) 8 - - 8 - = - = - .
4 4 4 2

14 8 22 6 3
10) 316 +216 = 516 = 616 =68
11) 71§. - 3 25 = 6 56 _ 3 25 = 3M

40 40 40 40 40

2) 6(7) = 42
42=42

1 13) - . 9S = 54·-
9 9

S=6

4) 9(6) = 54
54=54

~) §'+.1=§'x£=11.=~=11
8281822

6) 11.+ JL = 12 + 8 = 11. = ~ = 11
16 16 1 8 2 2

7) 34 +.§. = 34 x ~ = 102 = 4 .1...
5 3 5 5 25 25

8) 25 + 45 = 2~ x.JL = 200 = 1 65 = 1ll
3 8 3 45 135 135 27

9) 4.1 + 2 ~ = 6.1.= 7
4 4 4

10) 2...§...+ 61Q = 8.1§. = 8 ~
50 50 50 10

11) 13JL - 51.1..= 12 27 - 51.1..= 71d.
18 18 18 18 18

12)~ 2. x £ = ill = .§.
6 3 18 9

4 2 8
13) 5' xl = 35

;: 1 3 3 11~) -x-=-=-
. 9 8 72 24

15.) 3S = 45; S = 1.5yrs.
16L A ~5/8 x q/~~=--25/64 sq. in.

, 5 5 5 5 20 5 1 .P = - +- +- +- = - = - = 2-1n
8888822'

17) 32 7 3 = 1q. 2/3
1ffi 32 x 12 = 384 in.
19~ 15 x 15 = 225
20) 21

12) ~ x1=2..
4 8 32'

1 3 3 113) -x-=-=-
3 7 21 7

14) £x2.=.1Q=.1
5 6 30 3

15) 60=18;0=3

16) 5 + 10 + 5 + 10 = 30 ft.
3073 = 10 yds.>

17) 5 .±-- 4.2. = 411. -- 4 §. = .2.= ~. gal
888884 .

3/4 of12 = 9 in.
3/4 x 4 = 12/4 == 3 qts.
3

18)

I ~9)
~O)

'-------

(f)
o
c-o·
::Jen
I\:)
~o
I\:)
~
11


